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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 4999 1.8 0.5 2 88.7 99.9
2 4995 1.8 0.5 2 87.6 99.8
3 4981 3.3 1 4 81.7 99.6
4 4842 2.5 1.1 4 62.4 96.8
5 4966 3.1 1.1 4 78.1 99.3
6 5000 3.1 1 4 78.3 99.9
7 5002 13.4 3.4 20 67.1 100
8 5003 14 3.6 20 69.9 100
9 4992 11.5 4.5 20 57.5 99.8

10 4995 12.3 4.2 20 61.3 99.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Answer all the questions in the spaces provided.

3. Suggest and explain two reasons why packaging is important to manufacturers of food products.
[4]

	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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4/4

Sticky Note
Reason given i.e. information and the type of information i.e. ingredients given as a development/explanation.

Sticky Note
Various points made showing how packaging attracts customers and leads to an increase in sales.





3/4

Sticky Note
Reason given but not explained nor developed.

Sticky Note
Reason given i.e. information and the type of information is developed i.e. calories and best before date.





2/4

Sticky Note
This answer in total just concentrates on the appeal of the packaging through colour which catches the eye and produces more sales. In effect only one reason is explained.
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	 (e)	 Hugh Lewis would like to improve his expected cash flow position. Evaluate ways in which 
businesses, such as Hugh’s, may achieve an improved cash flow.	 [10 QWC]

© WJEC CBAC Ltd.
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Sticky Note
This was taken to mean a reduction in price with the consequent increase in sales. However, there was no consideration of any disadvantages of such a suggestion.

Sticky Note
This method of increasing cash flow is valid in that a reduction in insurance premiums reduces costs but again no adverse consequences are considered.

Sticky Note
This repeats the earlier point about a change in price but it does not clearly state a disadvantage.



6/10

Sticky Note
Again the candidate gives a way of reducing costs but does not consider the disadvantage.

Sticky Note
Overall a number of ways are suggested and explained but no disadvantages are considered so the answer cannot achieve a mark above the maximum for Level 2.







Sticky Note
Suggestion given and developed. Although the disadvantage is unlikely in terms of fuel, a possible disadvantage is considered.

Sticky Note
Despite the use of the term capital, the candidate mentions advertising media to increase sales but appreciates that this will have an effect on costs.

Sticky Note
Again the candidate suggests a decrease in costs - this time for labour - could increase cash flow but then suggests how this could demotivate staff, reduce quality and thereby cut sales.



10/10

Sticky Note
The candidate has written enough so far to perhaps gain full marks but the answer continues with a further suggestion to improve cash flow.







Sticky Note
In the first paragraph the answer lists cutting fuel, labour and energy costs. It then incorrectly links cash flow with profits. So far this is a Level 1 answer.

Sticky Note
Advertising is mentioned. If not developed the answer would still be in Level 1 but it justs gets into the next Level by showing that more customers will be attracted - despite again the reference to profits.



4/10



(4080-01)© WJEC CBAC Ltd.

18
Examiner

only
Judith wants to further expand the business by becoming a franchisor and allowing others to use 
her CookerClean name and business model.

(e)	 Discuss whether or not Judith should expand as a franchisor.	 [10 QWC]10







Sticky Note
No credit is given for the definition.

Sticky Note
This correctly shows and develops the idea that the franchisor earns some of the profit made by the franchisee. A description of how this is done by e.g. royalties would have improved the answer here.

Sticky Note
These consequences might have been possible without becoming a franchisor but are allowable in the context of the question.

Sticky Note
Another advantage given here showing that Judith is still the major decision maker.

Sticky Note
The monitoring of franchisees is not covered in the mark scheme but it is a good point and is developed in the context of the time needed to carry out the work.

Sticky Note
At this point the answer is at the top of Level 2 but the second disadvantage moves the answer into Level 3.



9/10

Sticky Note
This explains the consequence of training the franchisee for the franchisor.

Sticky Note
The conclusion is awarded marks but it needs to be fully justified to gain the full marks. Gaps in the earlier parts of the answer have not shown how work is reduced nor how the franchisor obtains profits.







Sticky Note
Point made but not explained nor developed

Sticky Note
Some weak development here. The answer should have described how the franchisors profits are gained.

Sticky Note
Effect of quality of service on entire franchise explained. 

Sticky Note
Essentially this answer mentions 3 consequences of becoming a franchisor and explains two of these.



5/10







Sticky Note
This makes little sense as the brand exists. Perhaps the candidate meant to write that the brand could be expanded.

Sticky Note
Again this is not clear: perhaps the answer is related to the motivation provided by Judith's earlier business.

Sticky Note
Valid point on royalty payments developed and explained.



7/10

Sticky Note
Consequences of the provision of training given here.

Sticky Note
Bad effects on reputation of business developed here.

Sticky Note
Giving the benefit of the doubt for some of the uncertainties of the early part of the answer, this candidate just about achieves Level 3. As is shown the answer is continued and with a conclusion might achieve a very high mark.
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GCSE BUSINESS STUDIES 


MARK SCHEME – SUMMER 2014 


Question Answer 
Mark 


allocation 
Assessment 


objective 


3. Suggest and explain two reasons why packaging is 
important to manufacturers of food products.  


Suggests reasons [2x1] 
Explains/expands [2x1] 


Answers might include: 


Protection - reduce risk of damage  
Keep product fresh/clean – consumers aren’t harmed 
Storage - before sale - in retailers/on shelves 
Information - name and address manufacturer -use of product 
- ingredients – safety – use by dates- legal 
Product known – from advertising/previous purchase - for its 
image/quality - enables higher prices - differentiated  products 
from rivals - customers can tell one product from another - so 
product recognised - so brand loyalty - customers continue to 
buy  
Product stands out in display - impulse buying is encouraged  
etc. 


4 AO1 2 
AO2 2 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


9. (e) 
 


Hugh Lewis would like to improve his expected cash flow 
position. Evaluate ways in which businesses, such as 
Hugh’s, may achieve an improved cash flow. 


10 
 
 


AO1 3 
AO2 3 
AO3 4 


 
 Level 1  Suggests means of improving cash flow with no 


explanation. 
 


Information is poorly organised. There is limited use of 
specialist terminology/vocabulary and frequent errors in 
spelling, punctuation and grammar. 
 


1-3 
 
 
 
 
 


 


 Level 2  Shows how suggestions will improve cash flow or 
provides advantages  or disadvantages of suggestion. 
 


Information is well organised and ideas are expressed in a 
logical manner. There is good use of specialist 
terms/vocabulary with some errors in spelling, punctuation 
and grammar, but these are not intrusive. 
 


4-6 
 
 
 
 
 
 


 


 Level 3  Considers  at least 3 suggestions showing how each 
will improve cash flow and providing advantages and 
disadvantages  for at least 2 of these suggestions.  
 


Information is very well organised and the form and style of 
communication is highly appropriate. There is very good use 
of specialist terms/vocabulary with few, if any, errors in 
spelling, punctuation and grammar. 
 


Answers might include: 
 


Reducing staff - will reduce the wages bill -  
but this may lead to an inferior service - or reduced output -  
loss of customer - so revenue may fall  
 


Buying cheaper materials - will reduce production costs - and 
lead to lower prices - which could generate more custom - but 
customers will not be happy about the quality of the product - 
so sales/income may fall  
 


Delaying payment to creditors - will allow cash to be used for 
other purposes - 
but suppliers may become reluctant to offer trade credit  
 


Chasing-up bad debtors - may generate cash -  
but may lead to cash problems for customers - who may not 
be able to pay any debts  
 


Increasing promotions - may lead to increased sales  
but may have no impact on sales - and will be expensive to 
set up 
 


Raising finance/from bank/selling assets – but this will have 
consequences  
 


Increase/reduce price – may lead to more revenue if sales 
don’t fall, but revenue may fall if they get fewer customers  
etc. 
 


7-10  
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Question Answer 
Mark 


allocation 
Assessment 


objective 


10. (e) 
 
 


Discuss whether or not Judith should expand as  
a franchisor. 
 


10 
 
 


AO1 3 
AO2 3 
AO3 4 


 Level 1  Suggests advantages and/or disadvantages of 
becoming franchisor. 
 


Information is poorly organised. There is limited use of 
specialist terminology/vocabulary and frequent errors in 
spelling, punctuation  and grammar. 
 


1-3 
 
 
 
 
 


 


 Level 2  Answers will be one-sided perhaps using more 
business terms and explaining why Judith should become a 
franchisor.      
 


Information is well organised and ideas are expressed in a 
logical manner. There is good use of specialist 
terms/vocabulary with some errors in spelling, punctuation 
and grammar, but these are not intrusive.     
 


4-6 
 
 
 
 
 
 


 


 


 Level 3  Answers will be balanced with at least 2 advantages 
and 2 disadvantages explained.  
 


The best answers will make a recommendation. 
Information is very well organised and the form and style of  
communication is highly appropriate. There is very good use 
of specialist terms/vocabulary with few, if any, errors in 
spelling, punctuation and grammar. 
 


Arguments for might include: 
 


Enables growth – with less risk to franchisor – becomes more 
widely known – quicker than internal growth 
 


Franchisor receives money - as franchisees pay royalties - 
start up fees 
 


Franchisee must buy stock from franchisor - increased 
revenue/profit for franchisor 
 


Franchisee may be more enthusiastic than company manager 
- benefits sales - profits - reputation - of franchisor 
 


Franchisee organises outlet - finds location/site - planning 
permission - pays rent - pays for fittings/decoration - so costs 
lower  
 


Franchisee organises workforce - recruits - pays wages - 
complies with employment law etc. 
 


Arguments against might include:- 
 


Franchisor pays some costs - training -  advertising - design 
 


Less control over franchised outlet - as run by franchisee  
 


Franchisor may suffer - badly run by franchisees - bad 
publicity for one affects all 
 


etc. 


7-10  
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